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2-1 AN TR S SUEA TG
i) W] 4 | R B S At x| W A | s 58 g
il () 85 66 83 149 g g mp[ 1,013] 1,023] 1,103] 2,126
M = HT 285 281 305 586 ® [\ ik HT 419 412 469 881
ks Bk T 323 307 325 632 ) 760 814 881 1,695
gt Bk HT 256 242 266 508 il i3} 407 330 297 627
ff By T 17 12 10 22| | H & W7 15 21 15 36
gl RHT 25 24 16 40 WM HT 4 4 6 10
H [} A7 46 61 107 R B HT 792 749 814 1,563
H g 341 285 301 586| X |# J —TH 587 582 674 1,256
H (A iy 66 65 80 145 o —TH 336 348 327 675
- 213 187 202 389| 10 [ = =TH 443 418 476 894
g H HT 147 145 130 275 BT
X |db B HT 125 99 102 201 /)N 2t 4,776 4,701 5,062] 9,763
i i) 1 1 0 I B (&0 (o HT 971 867 877 1,744
#% 1w HT 185 146 185 331 M |3 & M7 1,085| 1,091| 1,080| 2,171
T+ & W7 86 73 87 160| u |[HE M 3 W7| 1,583 1,649 1,638] 3,287
17z 0T 50 51 56 107 X 4k 3¢ & W[ 1,052] 1,048 918| 1,966
mrlx L HT 99 94 97 191 4
mrl 2t 4,691 4,655 4,513] 9,168
/)N 2 2,351 2,124 2,306 4,430] B A HT 352 302 286 588
5 T 112 103 115 218 ik & OHT 73 53 61 114
vE(ve B oET| 1,621 1,797 1,840 3,637 = [*Ek H  HT 79 68 83 151
gt T 391 460 226 636 " i3 156 122 127 249
e 7T —TH 857 809 888| 1,607 # [F% F HT 272 282 288 570
#|WE 7T T H| 1,150] 1,206] 1,260 2,466 B JE W 349 355 373 728
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o |mTE—TH 134 175 162 337| #H |44 H T 514 591 568 1,159
BEEE_TH 501 559 522| 1,081 H % —TH 322 352 380 732
s —=TH 806 903 952] 1,855 % TH 408 495 537 1,032
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| & Wy mr| 1,382 1,772 1,828| 3,600 % 4w W7l 1,952 2,310 2,270 4,580
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H E mg o mp| 1,711 2,176] 2,139 4, 315| |22 @ ET 374 406 427 833
H|AE E g HT 518 559 484 1,043 % [ HT 539 692 697| 1,389
H E Jb mp| 1,421 1,905| 1,970 3,875 X [#4 A HT 224 320 299 619
HEE—TH 246 313 326 639 B Ot HT 175 223 196 419
HEH - TH 501 632 635] 1,267 £E B HT 371 403 359 762
 [EEE=TH 343 417 465 882| 11 |# @ HT 401 533 494 1,027
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W HT 620 771 759] 1,530
FHL—TH 344 372 392 764 /)N 2 8,953 10,589 10,255 20, 844
X EHIL T H 376 435 406 841 #h N HT 718 828 833 1,661
FHIL=TH 510 629 611 1,240 F BEOHT 435 497 535 1,032
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e R mr| 3,725 4,720 4,887 9,607
EOIBE H HT 834 1,074 1,069 2,143
20 DS o1 1,353 1,672] 1,722| 3,394| 4
X iyl /s Bt 4,808| 5,911 5,760] 11,671
3
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% #k HT 195 292 288 580
JE P B HT 260 340 367 707
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W e Y ET 315 423 450 873
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W fn HT 158 220 232 452
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9
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Mmoo HT 242 275 270 545
| & —TH 0 0 0 0
e ZTH 486 783 760| 1,543
| & =TH 329 539 549] 1,088
¥ & T H 159 249 262 511
X | & hTH 0 0 0 0
& SNTH 207 353 336 689
10
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1-1 PeAA T RS i SCEA TG
i) W] 4 | R B S S [ BT & | iR s S i
al= B  mr[ 2,692] 3,132] 3,113] 6,245 3 |vE ) 494 675 636| 1,311

= W HmP| 1,180 1,580 1,497| 3,077 W il 393 527 540| 1,067
iy (8 B W] 71 102 111 213| #w [ dm  WT 501 670 644| 1,314

HE R AT 853 1,057 1,040[ 2,097 B ) 229 304 294 598
g P mp| 1,915] 2,259 2,245| 4,504| H |E W HT 180 249 257 506
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% mp| 1,831 2,232] 2,231] 4,463 T 635 677 788| 1, 465
ol ow o omr| 1,384 1,687 1,726| 3,413 H |k B HT 340 466 474 940

B omr 652 787 7721 1,559 L2 5 i 156 225 209 434
AR i) 247 342 368 10| & (| B T 150 232 233 465

K o W7 890 1,183| 1,180 2,363 =EwNE—TH 645 661 734| 1,395
(| /T 450 410 491 901| Hb [N T H 523 666 599 1,265

L 302 357 333 690 =EMNE=TH 690 870 904 1,774
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Moo B mT 129 178 174 352
(g ke HT 165 215 225 440

T L HT 283 370 379 749

A ks HT 274 353 367 720

NS B HT 414 534 524| 1,058
X [& Il AT 285 361 338 699

& W mT 452 607 613| 1,220
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P fx ¢ T 423 492 491 983| 1 |hIE A fER| 1,783] 2,083] 2,007) 4,090
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1-1 PeAA T RS i SCEA TG
k| BT 4 | R B S i B L N T o 2 s S gt
ol B EP[ 2,405[ 3,025 3,021 6,046 —»r HIfFE 291 381 432 813
= o N T 204 272 282 554 Sy LIPN 400 544 531 1,075
il S N ) 25 29 34 63| = | =~ HET RS 174 311 305 616
X = HETRA 284 417 425 842
3 = BET LRZ 95 132 149 281
mr{ s it 2,634 3,326] 3,337] 6,663 » | =~ HHETEyS 56 101 102 203
Fro[BraH— T H 0 0 0 0 = HETHACK 147 206 219 425
# AL T H 621 837 829 1,666 =, HETFRE 296 453 470 923
H B =T H 363 464 465 929 H | =4 ARTHK 88 168 172 340
Hy ETAS DY T H 16 15 1 16 = AWTEREL|  1,023] 1,265 1,254 2,519
X s T H 722 983 980 1,963 = HETH & I 117 170 161 331
= » H W] 79 132 135 267
5 = » HHETEAR 253 358 321 679
L AR &t 1,722 2,299 2,275 4,574 = BT A IR 180 272 296 568
) A H7| 4,783] 5,805 5,805| 11,610 X | = HHETEL 153 315 325 640
= B Er| 1,368] 1,525 1,503| 3,028 “y HITEE 274 438 443 881
7= 7 o BTl 4,994  6,423] 6,485 12,908 — o HETARK 117 181 202 383
O = 5 HT 894 1,147 1,015 2,162 = HETEEZTHR 88 130 141 271
(W ET 712 986 1,001 1,987 19|=,nRAEr=sn 952 1,134 1,244 2,378
XK R HT 356 412 401 813| Hr
= = Wy 715 866 818 1,684 /)N 2t 5,067 7,108 7,327 14,435
7
my
/)N it 13,822] 17, 164] 17,028 34, 192
0GR T BT N By 301 391 394 785
o Fi]| «IHﬂThﬁ” 3,217 4,354 4,577 8,931
|4\ 7T BT A )1 3,923]  4,456| 4, 755| 9,211
X [0 7T BT A Iﬁ 141 190 205 395
FM VBT = Fn 612 820 792| 1,612
5
Ll IR it 8,194| 10,211] 10,723 20,934
sl | 1,332] 1,804 1,832 3,636
5| 2 BTt 5 200 248 276 524
GRSl 516 654 658 1,312
51 |5 #2 BT 4 5 840 1,049 1,068 2,117
5| BT 5F 15 61 113 108 221
Sl A BT )1 44 118 177 183 360
GRS 39 62 64 126
Ve |51 2 BT 35 )1 247 296 307 603
5| 2= |y Y 5 45 71 75 146
Sl =T B & 71 81 114 195
51 &= BT H R 90 130 130 260
5] 72 BT H 44 63 75 138
5| BT K 69 111 120 231
CIR I R 26 42 41 83
3 el PG AR AR 38 55 55 110
X |51 = BT 75 B i 30 45 40 85
5| 2 BT 4B S 111 163 169 332
3 e T SRR AR 91 121 99 220
5 1 BT B E W 62 63 86 149
51 A BT Bl 97 130 145 275
CIRLINEOR ) 46 92 91 183
5| e BT = & 45 80 82 162 it H A N {E E| 35,365 45,779| 46,560| 92, 339
25 |5 12 B IR 75 105 118 223| % s ENFE R 811 779 814 1,593
Wy |51 &2 BT KR 2 161 255 264 519 oy B 36, 176| 46, 558| 47, 374| 93,932
fif ”ET SF W7 283 440 484 024| 64 | MEAAZECEEEBE L A AAMEROMEBICE 2 ET,
/N it 4,737] 6,450 6,684| 13,134| AT | | | |
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1-1 PN TR S H SCEA TG
i) W] 4 | R B S S [ BT & | iR s S i
/N | 2,718] 3,680 3,644| 7,324 = ] 1,638] 2,424 2,536] 4,960
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